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1. ���� ��	
� 

1,1.  
����� �� ����� ��	
� ����UPS 

  ��
��� �<�T� � U ���  V���K�� � V��� %� ��8W� 4� .HWUPS  %� �� ��
��� 
��� 
�����=��  � !�� � ���� !����

 ���K��� � ��T1��� ��1 � ��$�� %T���� �W�.8 ��� %
� �$= �X� �� %Y���� N � 
8T� 
�� 

  
�� ��
��� 4� 
�� N �UPS  � !S��; �8<	$0�� 
�� A<*� �� ���K��� 
��� AB� ���L8<�$� .8�� �8	 

  ��
�ZZ��UPS  %� ! �� 6��� �  � ��T �� ����R� �� 6E 4� � ��$�� [KS 8<ZZ	�$= \<B�ZZ7� �$� M��� ]�T� 4� ��

��$;� � ��H^ � ��I 
���� � ���K��� 8��7� �4�8�� 4� M<�8< ���. 

  !��� 
�_ � � �8	  N`��� ��
�� � %�8� 
�� 
�$� % $�� a���� �$H� ��87 � 4� %(L �� N<�b�� � 6E c��;� �� ��

.8< ��� � �9� ���� % $�� ��1 �� !�-0 � !H��1 
����$ � �� ����� 

  6���$= XI����8W� � ��
�ZZ�� d�� 6��� 4�� %�8< ��� �� �� 4  !� 8 8�� �� ��ZZ	 !
���I e�� ��= ��$ZZL N � �<^

 ��R�� %�<�4 N � �� ����� 
���� ����� %(<�� %� 8 �� ���� U ��� � 
8�� \<� V)���� ��<(�9 !���� N ������ .8 ���

.���I 

 � .��� ��
��� !1��= %� ��� 6�$�9 %� �� !W�� 
����<� �  � ��$-� 8���� !��X<�R� XI��8< ���. 

 
�� �� 
�� �8��� O$��= 4� XI�� 6E 6��� O$��= 
��� 
4$�  M�E 4��� ��E ����- <0 .8<��� ���K�� � G �� M�

 ���K��� C-= � 
��$0 M�E 
�� �8��� O$��= 4� ��� N � 
��� %� �$	 !�8< ���. 

:�����  

 ��
�� � 6���UPS  f����= ��	  ��:�  
��� ���T�� e$� %� ���� �$1� e�� 4� ! 5�� g���� 6���$= XI�� N ������ �� �

� 6E �<�T� %� ��8W�8< ���  ���	 �  � �8�4�� ���	 O��� 4� U0 ���8= X��� �� !��$� %�$I�� �$1� ��$L �� �K�� �

 �8��� G 4$�.8 �<
� h��� 6E  

1,2. �� ����� �� ����� ��	
� ���� 

 �	�� %�	�� ! �X� %� �<i�� �� 
���� 8<K� ��9 �� 8���$� !� !�<*� .��$9 .8 g��	 � % aj� VA<*� 
5�� 
���

8���$� !� �� 
���� \���  �-0 � G ��  68	  !��= � �0 � N< �0 �<K<� 
���� e�� �� �� 6E  �� 6E 8<K� ��9

 � ��
�ZZZ�� )���� 
��� �<TZZZk� N�ZZZ	�� %� 8��$� !� 
� ���� ��$ZZZL %� �� 
���� l $T� .8��� M��� ��

E C� 6��4 6�$� ���� 4� 6��<�;� N<�b�� .8 ��� C�� )E �8 � D 

  ��ZZ	 %b���Y �I� .�� a0 ��$ZZL A ��ZZ	 81�� � ���� ����� AZZ�$� 8 �� �� 
���� l $T� � �ZZ�� ��<(�9 %<(�

 l $T� �� �� 
���� .��� 8<ZZZ	�� %�ZZZ��$=8< ���  O��� 4� U0 ���8= X���� 4� �� �Q� ��$� 
�� .��� �K��

 
��8 �= 6E �8��� G 4$� ���ZZZ	 �  � ��
�ZZZ�� !(*� �� �ZZZ�� N��� ��$ZZZL N � �<^ �� �� 4 8<�� %<�� �

 � �� m<TZZk 
�� .��� 4� ���K�ZZ�� � ���� �<��/ ��V  ��I 8S 4� M<� 6� �1 �$H9 ��
�� %� �� .��� � �8ZZ	

��I 
4$� M�E 4��� %� �R��.� 

  g����� N��� �� 
���� e�� 4 8�$	  !
���I e�� ��R � n9�� �� ��W ���$� )�� �� ��
�� %� ! 5�� 6� �1 ��

 �� 
���� l $T� �  � �� � %� ��8W� 4� .HW N ������ .8 E !� �$1$� �� 6E 
�� ���S �� � 4 �� �8	  6�<� ���$�

 � �9�8< ���: 
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o  ��� �$= 4� �� e�� 
����� ��$� � �� � �����$1 V��-
�� V�9��8< ���. 

o  6E %��� %� ����� ��X�� 4� ����.8<�� ���K��� �8	 
8�� p �9 !�$= %� �� 

o .8<	$q� p �9 M���� � MK� 

o .8 ��a
� �� 
���� 
�� �� 8	�� 
X(� 6E 4� !��7W %� 
��X�� �  � 
X(� �5E ��X�� XI�� 

o  G�W �� �� 
���� %� .��� 
����� %�� �8��� �� 
���� 4� �� )��<��� 6��� �81 4� .HW8< ���. 

 E �� �� �� 
���� XI��.8 4�8�<� M� ��� N��� �� 4 ��� N � �� .8�$	 �RK�� �� 
���� 

  �� \ZZZ-Y � �ZZZ�$0 
��� ��<ZZZ7� 6E 6��� �<������� ��$� �� 4 8<��� r��$ZZZ� �  � 4�� �� �� 
���� %�8� XI��

.8	�� !�� �8	 %� ��� N��� � ��$� f����= 

 � .ZZ��� �
 8�  %� ��<B�ZZ7� �� �� 
���� !K�� � �Hs� 
�� ��W XI�� N��� ��$ZZL N � �<^ �� �� 4 8<��

.���I 
4$� M�E �  � !
���I e�� ��= 4��� n9�� ��� 

  N<�4 � �� 
���� )��<��� N<� ! 5�� g���� N ������ .8��ZZ7<� �81 � %��X � 
���� g���� %� �HZZ7� �� 
���� ��8�

 8<�� !ZZZ���� �� 
���� )��<��� %� 6�4 �ZZZ�� � 6��� U�� 4� .HW �a� ���� �$1� � N<�4 N<� 
g���� %�

.8	�� %�	�8� �$1� �� 6E )��<��� 

:����  

\t:9 � �� %��-� O4$�E  

��  ! "�#$� % �� ����� 

����� "�#$� ����� "�#$� 

 
��8-� 

 
��� �/�KS 

 
5�� g���� ��= 

 
��8-� 6��� )�T� �<^ 

 6��� N	�� 
 

%��k� ��� 

 6��� O$��= 
 

�� 
���� 8 �4�� 

 

���S  �  � ��� %� ����E

.��� !	$��=  
����� 

 d����� e�� 
 

M ��� %*KL ����� %��� 

 \<B�7� e�� 
 

�� 
���� 
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2. �&' ��	� (�)*�  

2,1. ��+ ��),�� 

(��  1KVA-RS 1KVA-R  2KVA-RS  2KVA-R  3KVA-RS  3KVA-R  

4�R� �<��/  1KVA/900W 2KVA/1800W  3KVA/2700W  


����  

4�R� 
���� g����  208VAC/220VAC/230VAC/240VAC 

4�R� 
���� U�����  50/60Hz (��
��� �$= A�$� ����$= u<,-�)  


���� g���� �4��  
110~176VAC  ���)4�R�  N<� !�=50  !��100  V(��� .� 8L��280~300VAC   ��)50  ��� 8L��4�R� � (

176~280VAC  ��� 6�8�)4�R�(  


���� U����� �4��  40~70Hz  

PFC  0.99≥  

THDI  6%≤  

U0 
�� g���� �4�� -25%~+15% (\<Q�� .��W)  

!1��=  

!1��= g���� 208VAC/220VAC/230VAC/240VAC (\<Q�� .��W)  

g���� �W� ±1% 

!1��= 6�$� � �k  0.9  

���$� � %��k� ��� �<��/  

105%~125% .8�� !� �<Tk� �<<j� U0 
�� ���S %� %B<W� C  �	aI 4� U0 :���  

125%~150% .8�� !� �<Tk� �<<j� U0 
�� ���S %� %<��i !� �	aI 4� U0 :���  

<150% .8�� !� �<Tk� �<<j� U0 
�� ���S %� %<��i !(<� 8�<� �	aI 4� U0 :���  

��� %(W  3:1 




����� ���� � ��� 
������ � 
�� ��
��TITAN-900PRO-R(1~3KVA) 

 

V1.0 

Date: 1399/06/22 

6 

 ��1 �45 6��4 �8�

 ���S ��)�<Tk� �<<j�

 �  ��	 e�� 
���

(
����  

0ms ()�B��� 6��4)  

 ��1 �45 6��4 �8�

 ���S 4� �<Tk� �<<j�

 ���S %� ��	 e�� 
���

U0 
��  

4ms ()$�T� �$; %�)  

6
��8���

  

 e�� ���S

��	  
90% 91%  92%  


���� ���S  85%  86%  87%  

 %��L ���S

 ! $1


����W�  

95%  96%  97%  

!
1

��=
 U

�����
  

 e�� ���S

��	  

���� U����� %��-�  


���� ���S  (50/60±0.1)Hz 

 v�1$9� w$�R�

g���� C<�$����  
6%≤  V(!�= �<^ ���)2%≤ ���) (!�= 

�� 
����  


���� w$�  
��8�
� � U ��� %� 4�<� 6�8� 8<�� 8(<� 
�� 
����  

 g����DC 24V  36V  36V  48V  72V  72V  72V  72V  96V  

 
���� ��
��� 
���

!(=��  
9Ah/

12V 
7Ah/12V / 9Ah/12V 7Ah/12V / 9Ah/12V 7Ah/12V / 

 
���� ��8T���  2 3 3 4 6 6 6 8 8 

�g��	 !1��= g����  27.1

±0.4 
40.7±0.6 40.7±0.6 54.2±0.8 81.3±1.2 81.3±1.2 81.3±1.2 

108.4±1.

6 
108.4±1.6 

�8R� g��	 6��4   !�� 4��90%  )$; �� .� �<��/3  
���� 
���� ���8����� 
�� )8� 
��� �9��!(=��  

�g��	 6� �1  
 :!(=�� 
���� 
���� 
�� )8�1A(±0.15)  

 :!���<� 
���� 
���� 
�� )8�6A/3A(±0.5) 
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!;�H��� � !����� \�7<� 

�� �/�KS  
 ���$� )���� ����� �� �/�KS V%��k� ��� ����� �� �/�KS VN� �7� � �/�KS V5�� 
��� ����� �� �/�KS

 �/�KS V!1��=����� �� 
���� g��	� 

!;�H��� 
�� ��I��  
 :���8�����RS232  

 :
��<�=�USB ���� VSNMP ������ 
��� V  

M ��� %*KL w$�  LCD 

��� !�<*� A ��	 

 
��� � ����� ��$;�

������  
0~90%  � dE \<B�7� M	�0 6�8�0~40 ⁰C 

��H�� ����� 
���  -25~55 ⁰C (8	�� 
���� 8W�� %� !��$L ��) 

 ��1 ����� w�K���

������  
≥1000M  
���)<1000m  �� x�4� %�100 ��� �/ M��� 8L�� C  w�K��� M �X��(.���� )�H�� %� �<�  

�/�KS %1��  IP20 

X $� y��  50≤ (
��� C  %(L�� ��) .H<�� 

� �� 

 ��T��

 �� (]�9*p�9*w�K���)

���<(<� �7S  

440*

440*

88 

440*440

*88 
440*440

*88 
440*630

*88 
440*630

*88  

440*440

*88 

440*630

*88 

440*440

*88 

440*440

*88 

��I$(<� �7S �� 64�  12.2  13.78 7.58 22.73 25.86 9.66 29.26 9.45 10.04 

 * �� �<��/ M���70%  ���S ��CUCF  �� �90%  
�� !1��= g���� %� !��
��208VAC .8	�� �8	 \<Q��  

:����  

(��  -��  (��  -��  

TU7005-901PRO-RS 1KVA !(=�� 
����  TU7005-901PRO-R 1KVA !���<� 
����  

TU7005-902PRO-RS 2KVA !(=�� 
����  TU7005-902PRO-R 2KVA !���<� 
����  

TU7005-903PRO-RS 3KVA !(=�� 
����  TU7005-903PRO-R 3KVA !���<� 
����  
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2,2.  ����. /�0
����� �
�&1 /�2 

 

2,3.  ����. /�0
����� ���2 /�2 

  

    ��
��� !�-0 .�01KVA-RS(24V) V1KVA-RS(36V)  �1KVA-R  

 

 ��
��� !�-0 .�02KVA-RS(48V) V2KVA-RS(72V)  �3KVA-RS(72) 

 

 ��
��� !�-0 .�02KVA-R V3KVA-R  �3KVA-RS(96)  

①  
���� e�� ��$�AC  ② %��k� 6� �1 ����� �� �Q��*� 4$<�  

③ ��
��� �8��� C�= N�  ④  !;�H��� ��I��USB  

⑤EPO   6��� O$��= ��1)(��
��� 
����k�  ⑥  !;�H��� ��I��RS232  

  ⑦8��	$� ���� �:��   ⑧��$� � U�� V%�H	 
��� %B9�L ����� �� �/�KS  

  ⑨!1��= e�� 
�� ��$�   ⑩�� 
���� )��<���  
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:����  

%T� $� � 
g$�$��� w�B��� 8� E�� !; �� �� � N��� � 8�� �8	  ����E G1�� C  6�$�9 %� AB� � ��� � � �� .�	  N �  V�� 6E

8 � 5�� �� %� %Y 6E �� !TW�� 
�� .�	� �.8	�H� 6�7�  8   

3. 4)� 

3,1. 
����� ���� ��5�  ��' 6�� "���� �� "67 ��� ���6�� 

  ��
�� � 
8�� %�7 �UPS  !���� ��� �� 4� U0 �� 6� 6��� �� $�*� � ���� 4�� ��8< ��� �� ����� ��X<�R� .

 ��
�ZZZ��UPS  .��� �89 C  .��ZZZ	 e��V 
����  {$� � !;�H��� .��� V!ZZZ���� 
������ %Y���� 8(1 C 

%;$��� ��X�� ��� ���ZZ-� 8ZZ	�� !� DE C� 6��4 �8� 
���� !���H9 %� �  !���<� 
���� 
���� 
�� )8� �� .

 �89 C  .HW ���$� �� ��:9 !�5$;.8	�� %�	�� �$1� !�7 �� X<� �� 
���� %9$�R� %� )���� .��� 

  !� ���8< ��� 
�� � %� �  � !H<� E %�$I�� �8��- � ��$L  �� .8	 �� �8 8� �<� E .B� � .�S N<S �� ��

 .�S )$`7� ���	  %� �� ����� ��$� � ��$��� 
4�8�� ��� � ��� �� ��
�� � 6E �� ����� �4�$� 4� !�  �$H��

.8<�� w:;� 6E �8�	��� ���	 �  � ��
��� .B� � 

 )8� 6�$� !�  4� �� 8< ��� !ZZ���� �� ��
�ZZ��  � ��� ��� N � ��1 .8 $ZZ	 N`��� 8 � �8 �= %� !�8� �� 6�

 
�� �8	 ���� 6�-� )8� �
- ��� %*KLLCD .8<�� !���� \� �� �� ��
��� !�-0 .�0 � $(1 .�0 

:����  


8T� ���K�� � � .B� � .�S ��1V  8��7� N<
��  ��X<�R� N � .8 ��� %
� �$= �X� �� 6E 6��� 
8�� %�7 � . �� � � N����

�.8<	�� �W��� � ���� #�<�S� .B� � .�S ��
�� �� N �����  

3,2. 
����� 4)� 8#1 6�9� ���� ��:;<� 

  .��W 
��4�I VdE 4� 
��9 � 8ZZ	�� !�$= � �ZZ���� % $�� 
���� 8 �� ��
�ZZ�� �ZZ�� 
��� �Q� ��$� A<*�

.8	�� 
8<�� � �8��$= ��$� � )�T�	� 

  ��
�ZZ�� 6��� ���W 4�UPS  8 ��� ��8ZZ7� �� 6E !�ZZ-0 � $(1 .�0 
�$� �$H9 a���� %� 
� %�$I %� ��$ � ����

 d�,��� �� !(*� � ���� 
��� �$= �818< ��� .��<I ��$L ��$�� � !�$= %� �$� O��I 6E �� %� 

  ��
��� 6$���<0 A<*� 
���UPS  8 ��0°C~40°C .8	�� 

 	  
��8�
� N< �0 
����� �� ��
�� � !�8� 
��� �I� X � ����W ����  �i� �� 6E 6��� �� � N��� 8	 �� �8

 C- = 4� .HW 8 �H� 6������ N ������ 8�	 �� �8	  .<�- � dE68	  ��� � �� � %� ��8W� .��� �$; %� ��
�� �

.�$�� 8��$= 8 8�� �� �� 6E !
���I e�� ��= ��$L N � �<^ �� %� ��Y 8� ��� 6E 
4�8�� 

  ��
��� ��� .*�UPS �� C �X� 8 �� |��� 6�8� 6�$�� 
����k� ���$� �� �� 8	�� 6E e�� N<��� !(L� GH

.�$�� G�W �� ��
��� e�� %(L��:� � 

  ��
�� � %� 6�- ��� �� ��
�� %� �� �8��� c��� � ����� %� N � 4�UPS  4� U0 .8 $	  N`��� 8�	 �� O$��=

�
 � 4� U0 !�  �� �� 6E 8<��$� !� ��
��� !1��= %� ����� 6��� .��� N	�� 
8< ���. 
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  ��
�� �UPS  %� !��$�  �� �� �/�KS �� A� $� %��k � 6� �1 ����� �� ��	  e�� %� �� � �8	  X<�R� 4$<�

 ��
�ZZ�� �$= !��ZZ�� 6� �1 4� 6� .�*� .��W � 4�R� 6� �1 %� !��$ZZ� �� �� ��
�ZZ�� XI�� � 8<�� .ZZ���

.8<��� ��� e�� ��� ���� 

 � ��$� %�� ��-<� !�� � )$�S �;�= %�.8�	�� �8	 X�R� ��� \�7<� %� 8 �� e�� 
�� X �0 � � 

  ��
�ZZ�� !1��= 6�$� ��� e��UPS  � %�ZZ	�8� ��ZZ	 !(ZZL� e�� %� 6E 
���� 6�$� .ZZL� %� !;�H��� }<�

 G�W ��� ���� .\<	�� %�	�� e�� 6E !1��= �� 8	�� G�W 6E 
���� %� !��$L �� !�S ��� N��� N ������

 ��
��� !1��= e�� 6��� 6E !	$��= %��� %(<�� %� 6E 6��� O$��= � ��	 !(L� e�� 4� 6E 6��� �81

.8	�� !� 

  
�� )8� !���� 
���UPS  
��� .W�8S 6E 6��� 
�� 
���� 8<�� �4�1� ���K�� � 4� .HW !(=�� 
���� 
����

-<� 6��4 �8���  4�8  .8�$	 g��	 �9��
��� �� ��
��� 
g��� ��� ���W ��	 !(L� e�� ����  �� 
���� g��	

.8� ��� !� 4�^E �� �$= g��	 ��� ����$= ��$L %� �� 
���� ��	 !(L� e�� %� 6E )���� 4� U0 � ���E \���� 

 g��	 6�8� %<��� .��� ���$� ��<7� ��	 !(L� e�� �$H� ��$L �� ��
��� DE C� 6��4 %� ��� !T<H; :���

.8	�� 6E )���� 6��4 4� ��  

 %� ��
�ZZZ�� %� !��
��  
��� !��,��� 6�$� 8ZZZ	�� .ZZZL� ��<^ � 
�X<� 
�� ��� �0 V�� �8��� M ��� V�$�$�

^E %Q*� �� ����� w$� N � �� 4 8Z	�� ����� 6�$� w$�R� ����� �� 8 �� ��
�Z��� �$= ��� %� 4 6�$� ����� �� ��8S

.8<-� 8���$= 6� �1 �$= !��� 

 �R�� ��H= � ���� ����� A�$� 8 �� ��
��� 
8�� \<� %� !1��= � 
���� 
�� .��� %� 8 $	 N`��� .�$	 �

.8�	�� �8	 .��� \�*� � �K� �$; %� � !���� 

  �� � �� (6�1 [��*�) !�- � 6� �1 4� �/�KS 8<(� C  8<�� �$= %Y 6��Y �I�8< ��� .*� �K�� �� �  6E

 ��
��� !1��= �� ��8 �<
� �Q� ��. 

  6��4 �� !���<� 
���� 
���� 
�� ��
�� � 
��� !�5$; DE C�1~3KVA  %� !- � \<�  ��1 �� � N���

.8<	�� %�	�� 4�<� � 4 )�81 �� v�8�� ��9:;� %� 6E 
�� )��<��� 

(��  
��' =9� ��),��  

��%�%  �1%�>  �����  (��  (���)A9�6  

1KVA-R 1 mm2 1 mm2  4 mm2  1 mm2  1mm2  

2KVA-R  1.5 mm2  1.5 mm2  4 mm2  1.5 mm2  1.5 mm2  

3KVA-R  2.5 mm2  2.5 mm2  4 mm2  2.5 mm2  2.5 mm2  

 

3,3. �1%�> �7�)�� % 4)� 

 
�Z� 
�� ��
�Z�� !1��= �5�Z��� )���� ��$ZL %�1~3KVA  %� 8�� �8Z	 %�=�Z� )��<��� �  � e�� X �0 ��$ZL %�

 ��
��� !1��= 
�� X �0 %� �� 6E 
���� e�� .��� �� �8��� c��� � ����� 6��� ��� e�� ��1 8���$� !� 6������UPS 

 4�R� �<��/ �� �� ���� � !��� �<��/ 4� 6���=��  �� 6E ��� ��  
�� 4$<� � !(L � e�� .��� %�� � 4� .8� ��� .� ��
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 ��
���UPS  �KL %� �� 
4$� M�E �  � !
���I e�� %�$I�� ��R � ��= )���S� �� 8<�� .L�S 6��<�;� 8�	�� ����$=��

.8<�����  

3,4.  ��� ����� �� ����� �7�)��(��7�< C! D�  ��6 ����� ��� (�� �� EF+)��%�9� 

  ��
�ZZZ�� m(�,� 
�� )8� 
���UPS  �ZZZ���� g���� � �� 
���� 
8�� ���<0 %B �; 6������ %� � 4 )�81

 !� ��
��� 
��� �� 6E w$�R�UPS .8�� !� O4$�E �� 

 N � �<^ �� �� 4 8ZZ	�� !�� 4�R� N � 4� ���� �  � ��ZZ-<� � ��B� 4� ���K�ZZ�� !�S �  � ��
�ZZ�� )���� �<^ ������ n9�� ��$ZZL

.���I !� 6E 68 � %�8L  

(��  (��:)����� ���G�  (8H%)�� ����� -�	I� J��H%  

1KVA-R 3  36  

2KVA-R  6  72  

3KVA-R  8  96  

  

  ��
��� ��� 
�� )��<��� 
��� �� 
���� .��� ���� 4� !� UPS  %9$�R� 
�� ��W 
��� .��� �
 � �� �

 �� 
���� ��$L N � �<^ �� �� 4 8	�� !� \�� � !��<S ��<7� y<*L )���� O�� .��� �8	 %���I �Q� ��

 �� � 4 
�� O�� � ���$� %� 8��7� �X(� �8	 %� 6��� ��� �	�� 8��$= �$1� !
���I e�� 4��� )���S�

.8� ��� � �9� 

  8 $	 N`��� � ���� .��� \� %� )� �� ��$L %� � !���� %� �� �� 
���� ����� �� 
���� g���� %9$�R� %�

 ��g���� DC  ��
��� 4�<� ��$�UPS .8	�� 

  .��� 
���� 
�� )��<��� %� �8��� y<*L �$; %� �� 8�(� 
�� 
���� A��� .���8< ���  \<� %� ��$L N � %�

 !�-� \<� � �Hs� ��W %� X��W
��� ��� .��� )�� 6������ �I� .�$	 %�7� �� 
���� !K�� ��W %� �� ��

.8	�� %�	�� )�H�� %� �� ����= � �� �  � !
���I e�� ��= ��� N��� 8� ��� .��� 

  ���� ��� e�� p �; N � %� �� ��
��� � ���� .��� �� ��
��� !(L� % aj� e�� 8 �� 6������ ����� )���� 4� .HW

.8�	�� 

  ��
��� 
���� 
�� )��<��� %� �� �� 
���� A��� 8�(� .���UPS  ���Hs� 
��� X��W)y<*L %� �:0 � �9� "+"

��K!و  
��� !�-�"-" .��� (8< ���  ��
��� %(S�� N � �� %�UPS  4�^E �� �� 
���� g��	 ����$= �$; %�

.8 ��� !� 

  .��� ��
��� �-0 
���� )��<��� %� �� �� 
���� %9$�R�8< ���. 




����� ���� � ��� 
������ � 
�� ��
��TITAN-900PRO-R(1~3KVA) 

 

V1.0 

Date: 1399/06/22 

12 

 

4. ��K0 ������� % L���� 

4,1. �<�K��� ��� 
�M�� 

� !� 6������ \�7<� 8���$UPS �%� 8� ��� 8L� � �$�<��� !���� %� �  ��I�� 8���� !;�H��� 
�� ��I�� 4� ���K��� ��

 ���8�����RS232  !;�H��� ��I�� �USB  ��
��� )���� .��� ��R�� �� ��� N � 6�$� !� ��$<q��� %� 6E )���� �UPS  %�

 ��
��� � � 8� %� �R�� !I��� %� 8��$� !� %;$��� !;�H��� .��� %(<�� %� ��$<q���UPS .���I  

  ���8����� ��I��RS232 

�
�2 
��	0  1  2  3  4  5  6  7  8  9  

�����' % �����  !��=  )����  ��� ��  !��=  N<�4  !��=  !��=  !��=  !��=  

  

:����  

 ���8����� A��� %� #$��� 
��������0RS232  %�:8�� �8	 \<Q�� � 4 ��$L  

o  :)���� r��1200bps 

o  :� ��8 �<� 

o  :����� 8�1 �<� 

o ���8� :�<� 
$
�� � {�; 

  ��I��USB 

�
�2 
��	0  1  2  3  4  

�����'  +5V Date +  Date -  GND  
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4,2.  
�M��EPO (���9�>�) 

 ���H9EPO  mK,�Emergency Power OFF  e�� 
����k� 6��� O$��= 
��T� %�

 ��I�� .8	�� !�EPO  6������ .8	�� !� XH� 6E |�� � ���� ���W ��
��� !�-0 .�0 ��

 ��
��� !1��= e�� 8���$� !�UPS  ��I�� 
�<I ��� %� %(<�� %� ��EPO  ���$� ��

 ����	 
�� % �0 
��9 ���S �� .8� ��� G�W ��$� 
����k�1  �2 �� �
 8�  %� !� .�

 4� !=�� %� !���4 �� � �$�� 8��$= ��� 
��9 �$; %� ��
��� ��$L N � �� %� 8�	��

 ���� 8� ��� G�W �� ��
��� !1��= ��$� 8�	�� %���$= 6������ � 8�� r� !���I�� ��W�K��

 ��� �45 %� ����	 
�� % �0 N<� )����1  �2  G�W ��8���  ��� !��� ��� N � 
��� %�

%;$��� \<� .8�-�� 6��<� ��  

4,3. (���9�>�)��	0�� ���' 

 ��
��� !�-0 .�0 
��UPS  ���� ��� ��1 %� ���� ���W 8��	$� �:�� C SNMP ���� � ������ 
��� VUSB 

 ��
��� 8L� � � � 8� ��1 �� �8	 6�<� ���� %�$I %� N � 4� C  �� 8���$� !� 6������ .���� ������ 6E 6���UPS  ��

5 .8��� ���W 6E O$��= �� ��
��� 6�$� !�� 8	�� ��� ��
��� 
�� 8��	$� ���� %� !����� �� %� ��� ��� %� �4

 )�H�� �� � 4 �� �8	 6�<� ���$� �K�� .�$��8< ���.  

 .8 ��E 6��<� � ���� 4�� �� 8��	$� �:�� O$0�� �8��� �� 

  ����)8��	$� ���� 
8T� %(S�� ��SNMP ���� �  � ������ 
��� VUSB( .8<�� ���W 6E �� �� 

 .8 8�H� �� 8��	$� ���� �8���8�
� }<0 6� �0 �� 

  ���'SNMP (���9�>�)  

 ����SNMP  ��
��� 
��UPS  ���� !�$= 
��I4�� %�H	 
�� .��9 \�7<� � �� ��X�� �,� V����X�� ��� �s�� ��

 ��
��� 
��� �� !�$= %�H	 �*� � � 8� C  6E �� %�UPS  ��
��� ������� N � �� .�$� ���� 6�$�<�UPS  8��$� !�

 6E � � 8� 
��� N��� ��W�K�� � 
���� e�� � ��
��� �<Tk� ��$� �� !��9:;� %� ���I .��� ����� � %�H	 %�

.8 ��� !��H<�-0 %�H	 �*� � � 8� %(<�� %� ��  

 (���9�>�)8'���' ���� ���'  

$� �:�� �� �� ������ 
��� ���� !� %�H	 � � 8� ������� 4� �
 � !9$� .L� �� %(<�� N � �� 4 8<�� ���W 8��	

.8	��  

89GS�� % /*�  T9U��  

C  ����	 % �0   ��
��� :N	��UPS .��� d��=  

�� ����	 % �0  .(���� ��� � \�7<�)��8-� :N	��  

%� ����	 % �0  N<�4  

���Y ����	 % �0  .��� ��� 4� ��
��� 6��� O$��=  

��0 ����	 % �0  f��-�  
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M	 ����	 % �0  .U0 
�� ���S :N	��  

�K� ����	 % �0  .��� m<Tk 
���� :N	��  

�-� ����	 % �0  
.���$� � ���S :N	��  

.U0 
�� ���S :O$��=  

%� ����	 % �0  
���� e�� :N	��AC .8	�� !� G�W  

  

  ���'USB (���9�>�)  

 
�� ����USB  
�� ��
��� �$�,�UPS  :��� G��� N � %�.��� �8	 !S��; 5�� U����� N :�E 
�� )8�

 ��I�� %��-�USB .8	�� !�  

5. ���&	: 

5,1. ���&	: �� �	'� 

  
�	'�  �����'  

 %���ON (!�	��)  

( + )  

%<��i \<� 4� ��-<� �8� 
��� 6��4 \� �$; %� �� %��� �� � ���� ��-�  ��
��� �� 8 ��� %
�

UPS .�$	 N	��  

 %���OFF (!	$��=)  

( + )  

 %<��i \<� 4� ��-<� �8� 
��� 6��4 \� �$; %� �� %��� �� � ���� ��-� ��
��� �� 8 ��� %
�

UPS .�$	 O$��=  

 %���TEST/MUTE  

( + )  

 ���S �� %<��i C  4� ��-<� �8� 
��� 6��4 \� �$; %� �� %��� ��Line  e�� 4� ���K��� � 

 
����W� ! $1 %��L ���S �  � ��	ECO  ���S � CUCF 8 ��� %
� � ���� ��-�  ��
��� ��

.8 ��� ��1� �� �$= ����$= �7� G���  

 
���� �� �8	 ��<=� 
g��� 4� ���K��� ���S �� %<��i C  4� ��-<� �8� 
��� �� %��� ��

.���I G�W �� 
���� %� #$��� !�$L ��8-� �� 8 ��� %
� � ���� ��-� ��  

$R�71 
�� %���  

( , )  

� !���S �4� �<^ :���<Q�� ���S  

  %��� �  ��-� (%<��i �� 4� ����)%<��i \<� 4� ��-<� �8� 
��� ��

.8� E !� �� M ��� %� \Q�� ��$L %� �� \� E :8<�� 

  %��� C  %<��i �� �� �� \� E :8<�� ��-� %<��i �� 4� ��-<� �8� 
��� ��

.8� E !� �� M ��� %� \Q�� �$; %� � ���  ��-� �
 � ��� �� %��� %� !��
�� �

.8	 8��$= v��= �<Tk� N � 4�8<�� 

:���<Q�� 
$�� ���S �� 
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  %��� �  ��-� (%<��i �� 4� ����)%<��i \<� 4� ��-<� �8� 
��� ��

 d�,��� �� \<Q�� .��W 
�� %� XI 8<��$� !� )�S :8<��8< ���.  

���<Q�� 
$�� %���  

( )  

 ���S 4� �<^ !���S ��:���<Q��  

 .8 $	 ���<Q�� 
$�� ���� �� 8<�� ��-� %<��i �� 4� ��-<� �8� 
��� �� %��� 

:���<Q�� 
$�� ���S ��  

  �� 8 ��� %
� � ���� ��-� (%<��i �� 4� ����)%<��i \<� 4� ��-<� �8� 
��� �� %���

.8 $	 \<Q�� .��W 
�� %� XI ���� 

 � ���� ��-� %<��i �� 4� ��-<� 
��� �� %���  ���<Q�� 
$�� 4� �� 8 ��� %
�

.8 $	 v��= ��
���  

 %*KL M=�Y %���

 �
- ���LCD 

( + )  

 %����  4� ��-<� �8� 
��� ��� %<��i ��0 :8<�� ��- M=�Y ��1 )�S

 �
- ��� %*KL 6��� 
�� \� E M ���LCD .�$�� 8��$= �<<j�  

  

5,2. V
�	� �*$W �����' E��� 

  

V
�	�  �<���� L���  

�� V
�	� ��  ��
!��!
  

  

) .8	�� !� ��
��� %� �8	 .��� ��� !H �B� 8L�� �8��� 6�-� :��� 6$� E0~25%  V

26~50%  V51~75%  �76~100%N	�� ��7W �� �/���� ����	 �� 6E �� %� (  �8	

 6$� E N � 8	�� %��k� ��� 
���� ��
��� %� !�W� )�S .�$	 !� ���� 6�-� ����� ��$�

.�4 8��$= C�-Y  

  

 %��� .8�� �8	 �8L !� �  � )�T� �<^ %� ��� ! ����8-� �8��� 6�-� :�8L !� 6$� E

MUTE  6$� E %� 8<�� ��-� �� 
���� �� �8	 ��<=� 
g��� 4� ���K��� 
��� ���S 
�� ��

MUTE .�4 8��$= C�-Y  

  

 %� N� %� !��
�� .8	�� !� �� N� 
��� �<Tk� �8��� 6�-� 6$� E N � :N� 6$� E

 5�S �$	 !� ���� 6�-� M=�Y )�S �� 6$� E N � 8	�� ��� %� )$j-� )���� ��$L

�� N� %b���Y .�4 8��$= C�-Y 6$� E N � 8�	�� d��= �  � 8�	�� �8	 G�W  

  
.��� ���� r� ��
��� 
��� ! ��= %� ��� 6E �8��� 6�-� :��= 6$� E  

�� 6$� E M ��� .*� 

��� �<��/ 8L��  

������ ���S 


���� �<��/ 8L��  

 .*���89� M ���  
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 E� ��$L %� �� 
���� �8��� !W�� �<��/ �8��� 6�-� :�� 
���� �<Tk� 6$0~25%  V

26~50%  V51~75%  �76~100%  �� 
���� �8��� !W�� �<��/ %� !��
�� .8	�� !�

 8�$	 G�W �� 
���� %� N � �  � �$	 \� �� 
���� �<Tk� 6$� E 64 C�-Y ��$L %�

 �� 8��$=8�E.  

 
����� 89GU% �� ����� ��:;<�UPS  

��89� M ��� %<S��  

  %� !��
�� ���<Q�� ���S 4� �<^ !���S ��UPS  8�� !� ��� )���� ��$L %�

 ��= 8� 68	 ���� M ��� .8�� !� M ��� �� 6E !1��= %� #$��� ��9:;�

.8	�� !� ��
��� �� )��	� � ��= �$1� �
��<� 

  V��$�� \<Q�� �� m(�,� !1��= 
��g���� 8���$� !� 6������ ���<Q�� ���S ��

 
����W� ! $1 %��L ���SECO  ���S V���� )�T� ��CUCF  \� � ���� )�T� ��

 ! ����	 ����	 $R�71 
�� %��� � 
������ G��$� ���<Q�� 
��8<(� �� N<�Y

 .8� ��� d�,��� ��  

��'��' 8H�X  

 
��� ���S M ��� %<S��  

 ��
��� 6�$� �<��/ �8��� 6�-�UPS  �	aI 4� U020  !� 6E ��� %� 4�^E 6��4 4� %<��i

 .8	��  

 ��
��� ������ ���S �8��� 6�-�UPS  �	aI 4� U020  8���� %<��iSTBY  ����E ���S)

 V(��� %�BYPASS  V(U0 
�� ���S)Line  V(��	 e�� 4� ���K��� ���S)BAT  ���K��� ���S)

 V(�� 
���� �� �8	 ��<=� 
g��� 4�BATT  V(�� 
���� ����$= �7� ���S)ECO  ���S)

 V(
����W� ! $1 %��LSHUTDN  � (.��� !	$��= ���S)CUCF  U����� 
��� ���S)

.(���i g���� � ���i  

 ��� 
����  ��� ���&	:LED  

 

 
�� ���Y N �LED  .8�	�� !� ��= � ���$� � %� #$��� V���� %� �Y 4� �<��� %�  

I �� ��LED ) ���$� �LED  %� ��� N � �
��<� :8	�� N	�� %��$<0 ��$L %� (|�� XH�

 ��
���UPS  �  ��	 e�� ���S ��ECO  .���� ���W 
���� 4� ���K��� ���S �  �  

 ��I��LED ) ��=LED (|�� X��W :8	�� N	�� %��$<0 ��$L %�  ��
��� %� ��� N � �
��<�

UPS  .���� ���W ��= ���S ��  

 m(�,� 
�� ���S 4� !��IE 
��� :%���LED  �� ��5E �7<� %� �K�� Vm(�,� 
�� �$� ��

.8< ���� %T1��� %;$��� )�81 �  �   

  

5,3.  
�����  ��' Y���> % A0%� ��9&	:UPS 

��9&	:  ��*9U��  

 6��� N	��

 ��
���UPS 

  ��
��� 6��� N	��UPS :��	 !(L� e�� �� 

o  ��
��� ��	 !(L� e�� 68	 .L� ��
�� %�UPS  �� %� .�$�� 8��$= ��� U0 
�� ���S 
��

 �I� .(
���� g���� ���8*� ��)8	�� !� 6E 
���� %��-� :��� ��
��� !1��= ���S N �

 8<	�� %�	�� !1��= �$	 !� .L� ��	 !(L� e�� %� !���4 %� 8	�H� 
4�<� �� 8<��$� !�

 %� XI ���<Q�� 
$��bps  ���S 
�� ��OFF  \<Q��8< ��� ]�� M<0 ���S �� .bps  
��
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 ���SON  ��
��� %� ��	 e�� )���� l*� %� %� ��� N � 6E !�T� %� ��� �8	 \<Q��

.���I !� N<��� U0 
�� �<7� 4� ��
��� !1��= 

o  %���ON  ��
��� �� 8<�� ��-� %<��i \<� 4� ��-<� �8� 
��� ��UPS � 4�^E �� �$= ��� .8 ��

.��� 8��$= w��	 �� �$= ��� ��
��� ���$� � 6E 4� U0 %� 

o  ��
��� V��
��� 68	 N	�� 4� U0 
� %Q*�UPS  � ��$�� ��1� �� �$= ����$= �7� G���

 8��$= �<Tk� �<<j� N :�E ���S %� ��
��� 8<�� ����� %� ����$= �7� ��<(�9 %� !��
��

.��� 

 ��� %(<�� %� ��
��� 6��� N	��g
 :��	 !(L� e�� ���=� 6�8� � �� 
���� �� �8	 ��<=� 

o  %��� 8	�� G�W ��
��� !(L� e�� %� !���4ON  8<�� ��-� %<��i \<� 4� ��-<� �8� 
��� ��

 ��
��� ��UPS .8 ��� 4�^E �� �$= ��� 

o  4� ���K��� �� ��
��� ��� %� 4�^E ��<(�9 %��-� �H �B� ��
��� ��� %� 4�^E !	4���0 ��<(�9

 ��
��� 8<�� ����� %� ��
��� ����$= �7� %� 6E 4� U0 .8	�� !� ��	 !(L� e��UPS  
��

.��� 8��$= ��� �� 
���� �� �8	 ��<=� 
g��� 4� ���K��� ���S  

 6��� O$��=

 ��
���UPS 

  ��
��� 6��� O$��=UPS :��	 !(L� e�� 4� ���K��� ���S �� 

o  !	$��= %���OFF  ��
��� ��8<�� ��-� %<��i \<� 4� ��-<� �8� 
��� ��UPS .���I O$��= 

o  ��
��� %� 6E 4� U0UPS  N�	�� %Y 6��Y �I� � �	�� 8��$,� !1��= �
 � 8	 O$��=

 G��� 8<��$� !� 8	�� 4�<� ��$� !1��= e��bps  
�� �
- ��� %*KL ���<Q�� 
$�� �� ��

 ���SON .8< ��� \<Q�� 

  e�� ���=� 6�8� � �� 
���� �� �8	 ��<=� 
g��� 4� ���K��� ���S �� ��
��� 6��� O$��=

:��	 !(L� 

o  !	$��= %���OFF  ��
��� �� 8<�� ��-� %<��i \<� 4� ��-<� �8� 
��� ��UPS  .�$	 O$��=

 ��
��� %� !��
��UPS ��= 8	 O$ �$	 !� ��R�� ��
��� ����$= �7� ��<(�9 �8��� ��

 %*KL N � � 8	 8��$,� ���� M ��� 
X<Y .�0 
�� �
- ��� %*KL 
�� ���S N � �� %�

.���I !� O$��=  

 %���Self-

test/Mute  �

 �7� ��<(�9

 ��
���UPS 

  ��
��� %� !��
��UPS  %��� .8�� !� ��� ��	 e�� ���S 
��Self-test/Mute  �8� 
��� ��

 ��$� 6E �<Tk� � �8	 �$= ����$= �7� ���S ���� ��
��� %� 8<�� ��-� %<��i C  4� ��-<�

 4� �� �$= 
��� �<Tk� ����$= ��$L %� �7� ��� ����� 4� U0 ����� �� � ��<I !� ���W �7�

.���I 8��$= �� 

  ��
��� %� !���4UPS � 
g��� 4� ���K��� ���S 
�� %��� 8	�� %�	�� ���W �� 
���� �� �8	 ��<=

Self-test/Mute  ��8-� e$� 
�8L ��� N � �� %� 8<�� ��-� %<��i C  4� ��-<� �8� 
��� ��

 %��� ������ �I� � 8	 8��$= G�W ��
���Self-test/Mute  ��-� %<��i C  4� ��-<� �8� 
��� ��

4� �� �$= 6�4 ��8-� e$� ������ ��
��� 8<�� .���I 8��$= ��  

 ���<Q��

 ��
���UPS  

  ���<Q�� G��� %��� .8 $	 ���<Q�� 
$�� ���� ���� ��-� %<��i �� 4� ��-<� �8� 
��� ��

 
$R�71 
�� %��� .8 $	 ���<Q�� 
$�� ���� �� 8 ��� %
� �( , )  � ���� ��-� ��

 ���� � ���� d�,��� �� ���<Q�� G��� .8 ��� %
� (%<��i �� 4� ����) %<��i \<� 4� ��-<� �8� 
���

.�$�� 8��$= 6�4 C�-Y %� w��	 %;$��� ���H9 %Q*� C  4� U0 %� 8 $	 ���<Q�� 
$�� 

  ���<Q�� G��� %��� .8 $	 ���<Q�� 
$�� ����4� ��-<� �8� 
��� ��  4� ����) %<��i \<�

 �
 � %;$��� ���H9 ��
�� N � �� .8 $	 ���<Q�� 
$�� ���� �� 8 ��� %
� � ���� ��-� (%<��i ��

 .8 ��� !� 6�4 C�-Y %� w��	 6E %� �/���� 
�89 �<j�� ]$9 �� � ��X� C�-Y 
�� %���
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$R�71( , ) �� 4� ����) %<��i \<� 4� ��-<� �8� 
��� � ���� ��-� ��  %
� (%<��i

.8 ��� 

   �8	 \<Q�� G��� Uq� � ���� d�,��� 6E ������ %� %1$� �� �� �$= �Q� ��$� 
�89 �<j�� 5�S

 8< �� ��8< ��� .0 ���<Q�� G��� %��� 
�89 �<j�� d�,��� 4� U4� ��-<� �8� 
��� ��  \<�

8 ��� %
� � ���� ��-� (%<��i �� 4� ����) %<��i <(�9 ��� N � �� %� � �8<�� ����� %� ���<Q�� ��

.�4 8��$,� C�-Y �
 � � �8	 N	�� ���i ��$L %� �Q� ��$� 
�89 �<j�� 

  ���<Q�� G��� %��� .8 $	 v��= ���<Q�� 
$�� 4�4� ��-<� �8� 
��� ��  ����) %<��i \<�

� %� � �8	 v��= ���<Q�� 
$�� 4� ��� N � �� %� 8 ��� %
� � ���� ��-� (%<��i �� 4� !(L� 
$�

.�-I 8<��$= 4�� ��
���  

5,4.  
����� ��	9Z��UPS 

 �1%�> J��H% ��	9Z�� 

 ���
�	� �*$WLCD ��	9Z��  

  

 
�� )8� 
���208/220/230/240 VAC  �� �� !1��= g���� ��� N��� ��	

 d�,��� � 4 ���$� 4� !�  �7S8< ���:  

208 !1��= g���� ���S N � �� :208 VAC .8	�� !�  

220 !1��= g���� ���S N � �� :220 VAC .8	�� !�  

230 !1��= g���� ���S N � �� :(]�� M<0 ��$L %�)230 VAC .8	�� !� 

240 !1��= g���� ���S N � �� :240 VAC .8	�� !�  

 �� ����� A9
�2 J��H% �� ����� ��	9Z�� 

 ���
�	� �*$WLCD ��	9Z��  

  

 %� �� 
���� N< �0 g���� d�,��� 
$�� 6�<� 4� �� �� 
���� N< �0 g���� 8<��$� !� ��	

:8< ��� d�,��� � 4 
�� %� XI 4� !�   

9.8  �� 
���� N< �0 g���� ���S N � �� :9.8 Vdc .8	�� !� 

9.9  �� 
���� N< �0 g���� ���S N � �� :9.9 Vdc .8	�� !� 

10  �� 
���� N< �0 g���� ���S N � �� :10 Vdc .8	�� !� 

10.2�� :   �� 
���� N< �0 g���� ���S N �10.2Vdc .8	�� !� 

10.5  �� 
���� N< �0 g���� ���S N � �� :10.5Vdc .8	�� !� 

DEF  g���� :(]�� M<0 ���S)EOD  %� �8	 .��� ��� %� %�7� ����$= ��$L %�

 .��	 %� 8�� !� �<<j� ��
���21,5 .8	�� !� g��	� ����� �� �/�KS �9��  

 8H�X ��	9Z�� [2 ��� 

 ���
�	� �*$WLCD ��	9Z��  

 

 !�  �1 N � �� ��� N��� ��	 %� .U0 
�� ���S 6��� )�T� �<^ �  � )�T� G���

:8< ��� d�,��� �� � 4 %� XI �� 4�  

ON.��� )�T� U0 
�� ���S :  

OFF ).��� )�T� �<^ U0 
�� ���S :(]�� M<0 ��$L %�  
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  �� ����� ��	9Z��AUO  

 ���
�	� �*$WLCD ��	9Z�� 

 

 ���SAUO  ���S �� 6�$� !� AB� ��Stdby  U0 
�� ���S �  (��� %� ����E)

 :8<�� d�,��� �� � 4 
�� ���S 4� !�  ��	 ��� N��� )�S �� �� .��� \<Q��  

ON:  ��
���UPS  e�� ���S �� ��� %� w��	 C<���$�� ��$L %� V6E 
���� %� e�� .L� ��

.8�� !� ��	   

OFF )��$L %� (]�� M<0:  ��
���UPS  y�� %� !���4 X1 %�) 6E 
���� %� e�� .L� ��

 �8	 \<Q�� y�� 4� 
���� g����EOD  (8	�� �� N< �0V  � �$	 !�� N	�� C<���$�� ��$L %�

.��� 8��$= ��� U0 
�� �  ��� %� ����E ���S �� ��
���   

 

5,5. ��������2 ��I�51 ��9&	: 


$R�71 
��8<(��  �� $R�71 .��W ���$� �� 8<�� ��-� (%<��i �� 4� ����)%<��i \<� 4� ��-<� �8� 
��� ��

 �8��-�8< ��� %*KL h�� �8	 ���� 6�-� ���$� .8	�� !� ��� � ��� V!1��= V
���� V
���� .��	 �8	 $R�71 ���$� .

�
- ���LCD :8	�� !� � 4 )�81 �� �8	 ���� 6�-� ���$� .��	  

���
�	� �*$W LCD ��*9U��  

  

 !1��=OUTPUT ��
��� !1��= e�� U����� � g���� :UPS  �� .8�� !� 6�-� ��

 !1��= g���� %;$��� !�<���I � $��220VAC  !1��= U����� �50Hz  ���� 6�-�

.�$	 !�  

  

 ���LOAD) $<��� 6�$� %� #$��� �<j�� �89 :W
���/ 6�$� � ((VA)  
����� %� #$���

 6�-� !�<���I � $�� �� )�s� 6�$�9 %� .8�� !� 6�-� �� ��
��� %� �8	 .���

 �8	 ���� �8	 .��� 
����� $<��� 6�$�800W  6E 
���/ 6�$� �1KVA  .8	�� !�

 �81 ��
��� !1��= 4� �� ����� %� !��
��)8< ���  C  %� 8�� !� �Q� %� !T<H;

 �7S �� CY$� 
�89 �<j��W  � VA .�$	 ���� 6�-�  

  

 ��
��� !���� ��X<�R� 
��� �s��8S �8��� 6�-� :���UPS  � $�� pH; .8	�� !�

 �� ����� ��� �s��8S �1 N � �� �8	 ���� 6�-� !�<���I40⁰C .��� ��$�  

VAC

HZ

OUTPUT

25% 50% 75% 100%

25% 50% 75% 100%

L
I N
E

25% 50% 75% 100%

25% 50% 75% 100%

W

KVA

LOAD

L
IN
E
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����INPUT pH; .8	�� !� ��
��� 
���� e�� U����� � g���� �8��� 6�-� :

 �� ����� 
���� e�� g���� �1 N � �� �8	 ���� 6�-� !�<���I � $��220VAC  �

 6E U�����50Hz .8	�� !�  

  

 � $�� pH; .8	�� !� �� 
���� 
��� �8��� !W�� �<��/ � g���� �8��� 6�-� :�� 
����

 �� ����� ��
��� %� �8	 .��� 
�� 
���� g���� �8	 ���� 6�-� !�<���I24VDC  �

 �� 
���� 
��� �8��� !W�� �<��/100%  ��$L %� �� 
���� �<��/) .8	�� !�

� �� 
���� g���� %� %1$� �� !H �B�(.�$	 !� %H��*  

5,6. 
����� ���&	: 8H�X 

 ������ % 
����� ��'��' 8H�X

 ���
�	� �*$W �'LCD  V
�	�

��� �� 

��*9U��  

U0 
�� ���S  

  

 ��
���UPS :8�� !� �<Tk� �<<j� U0 
�� ���S %� � 4 #�	 %� 4� !�  �*�  

  � )�T� .HW 4� ���<Q�� �� U0 
�� ���S � 8	�� �8	 .L� ��	 !(L� e��

N	�� .8	�� �8	 

  ��
���UPS  ���S � 8	�� �8	 O$��= ��	 e�� 4� ���K��� 
��� ���S 
��

.8	�� �8	 N	�� � )�T� .HW 4� ���<Q�� �� U0 
�� 

  8	�� �8	 .��� %��k� ��� ��
��� %� ��	 !(L� e�� 4� ���K��� 
��� ���S ��

.8	�� %��k� ��� A ��	 �� ��
��� � 

 

 ��
��� %� !��
�� :%���UPS  DE C� ���S 8�� !� ��� U0 
�� 
��� ���S 
��

.�	�� 8��$,� �$1�  

��	 !(L� e�� 4� ���K��� ���S  

  

 .�$�� 8��$= ��� � 4 A ��	 �� ��	 !(L� e�� 4� ���K��� ���S �� ��
���� %� !�W

 %� .8	�� ��	 e�� ���S 
�� ��
��� 
��� A ��	 �� ������ !(L� 
���� e�� ��

 ���S N � �
- ��� %*KLLCD  ���H9LINE .��� 8��$= M ��� ��  

VAC

HZ

25% 50% 75% 100%

25% 50% 75% 100%

L
IN
E

INPUT

25% 50% 75% 100%

25% 50% 75% 100%

VDC

%

L
IN
E

BATTERY
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 ��� %� ����E ���SSTDBY  
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